

## Tabulation of Bids

Page 1 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) TRAFFIC LINES, INC.		(2) DENVILLE LINE PAINTING, INC.			
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0001	151006M	1.000	30,000.00000	30,000.00	40,000.00000	40,000.00		
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	153011M	1,500.000	0.80000	1,200.00	0.80000	1,200.00		
TRAINEE	S	HOUR						
0006	159003M	50.000	0.01000	0.50	50.00000	2,500.00		
BREAKA	WAY BARRICADE	U						
0007	159006M	50.000	0.01000	0.50	50.00000	2,500.00		
DRUM		U						
8000	159009M	1,500.000	20.00000	30,000.00	30.00000	45,000.00		
TRAFFIC	CONE	U						



**Tabulation of Bids** Page 2 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

	o / Item ID escription		(1) TRAFFIC	LINES, INC.	(2) DENVILLE L			
Alt Set	: / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0009	159012M	800.000	0.01000	8.00	10.00000	8,000.00		
CONSTR	RUCTION SIGNS	SF						
0010	159027M	8.000	0.01000	0.08	4,000.00000	32,000.00		
FLASHIN	IG ARROW BOARD,	4' X 8' U						
0011	159030M	6.000	1,000.00000	6,000.00	6,000.00000	36,000.00		
PORTAB SIGN	LE VARIABLE MESS	AGE U						
0012	159108M	8.000	20,000.00000	160,000.00	20,000.00000	160,000.00		
	CONTROL TRUCK NED CRASH CUSHION							
0013	159141M	750.000	0.01000	7.50	3.00000	2,250.00		
TRAFFIC	DIRECTOR, FLAGG	ER HOUR						

Page 3 of 8



## Tabulation of Bids

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) TRAFFIC LINES, INC.		(2) DENVILLE LINE PAINTING, INC.				
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0014	MMR080M	1,500,000.000	0.05000	75,000.00	0.25000	375,000.00		
CLEARIN	NG SITE	LF						
0015	610003M	3,936,131.000	0.45000	1,771,258.95	0.47000	1,849,981.57		
TRAFFIC	STRIPES, 4"	LF						
0016	610006M	1,895,450.000	0.75000	1,421,587.50	0.65000	1,232,042.50		
TRAFFIC	STRIPES, 6"	LF						
0017	610007M	196,807.000	0.90000	177,126.30	1.55000	305,050.85		
TRAFFIC	STRIPES, 8"	LF						
0018	610060M	52,460.000	15.00000	786,900.00	11.00000	577,060.00		
TRAFFIC	MARKINGS SYMBOL	S SF						
0019	610013M	30,000.000	1.00000	30,000.00	2.95000	88,500.00		
TRAFFIC	MARKING LINES, 4"	LF						



**Tabulation of Bids** Page 4 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

	/ Item ID scription		(1) TRAFFIC	LINES, INC.	(2) DENVILLE L			
Alt Set /	Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>I:</b> 0001	ROADWAY		Cat Alt	Set:	Cat A	It Member:	
0020	610014M	60,778.000	6.50000	395,057.00	5.25000	319,084.50		
TRAFFIC I	MARKING LINES, 8"	LF						
0021	610017M	142,343.000	9.00000	1,281,087.00	11.00000	1,565,773.00		
TRAFFIC I	MARKING LINES, 24	" LF						
0022	610012M	1,000.000	25.00000	25,000.00	50.00000	50,000.00		
RPM, MON LENS	NO-DIRECTIONAL, V	VHITE U						
0023	610018M	1,000.000	25.00000	25,000.00	50.00000	50,000.00		
RPM, MON AMBER LE	NO-DIRECTIONAL, ENS	U						
0024	610021M	1,000.000	25.00000	25,000.00	50.00000	50,000.00		
RPM, BI-D LENS	IRECTIONAL, AMBE	ER U						



**Tabulation of Bids** Page 5 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) DENVILLE L INC				
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0025	610024M	1,000.000	4.95000	4,950.00	5.00000	5,000.00		
REMOVA	L OF RPM	U						
0026	610027M	47,100.000	15.00000	706,500.00	19.00000	894,900.00		
REMOVA RPM LEN	L AND REPLACEME IS	ENT OF U						
0027	610036M	650,000.000	0.25000	162,500.00	0.25000	162,500.00		
REMOVA	L OF TRAFFIC STRI	PES LF						
0028	610039M	26,230.000	1.80000	47,214.00	2.00000	52,460.00		
REMOVA	L OF TRAFFIC MAR	KINGS SF						
0029	MMR065M	5,000.000	1.00000	5,000.00	2.00000	10,000.00		
PATTER	IL OF LONG LIFE NED CONTRAST NT MARKINGS TAPI	LF E						



**Tabulation of Bids** Page 6 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Markings Contract, Central - 2020

Line No / Item ID Item Description			LINES, INC.	(2) DENVILLE LI	•		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat A	It Member:	
0030 MMR067M	251,404.000	0.40000	100,561.60	0.75000	188,553.00		
REMOVAL OF TRAFFIC MARKINGS, LINES	LF						
0031 MMR083M	(1)	80,000.00000	80,000.00	115,000.00000	115,000.00		
MOBILE RETROREFLECTOR SERVICE	METER LS						

**Section Totals:** \$7,346,958.93 \$8,220,355.42



**Tabulation of Bids** Page 7 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Markings Contract, Central - 2020

Line No / Item ID Item Description		(1) TRAFFIC LI	NES, INC.	(2) DENVILLE LI			
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0002 CONSTRUCT		ON ENGINEERING	G Cat Alt	Set:	Cat A	It Member:	
0004 155006M	1.000	10,000.00000	10,000.00	35,000.00000	35,000.00		
FIELD OFFICE TYPE B SET U	JP U						
0005 155024M	12.000	2,000.00000	24,000.00	10,000.00000	120,000.00		
FIELD OFFICE TYPE B MAINTENANCE	МО						

**Section Totals:** \$34,000.00 \$155,000.00



**Tabulation of Bids** Page 8 of 8

Contract ID: 21454 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2021 District(s): C4

Call Order: 454 Project(s): STBGP-FLEX-D00S(502)

Contract Time: 12/31/22 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Markings Contract, Central - 2020

Line No / Item ID Item Description		(1) TRAFFIC	(1) TRAFFIC LINES, INC. (2) DENVILLE LINES, INC.		•		
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 NON-PARTICI		PATING	Cat Alt	Set:	Cat A	It Member:	
0002 152015P	1.000	15,000.00000	15,000.00	15,000.00000	15,000.00		
POLLUTION LIABILITY IN	SURANCE DOLL						
Section Totals:			\$15,000.00		\$15,000.00		
= Contract Totals			\$7,395,958.93		\$8,390,355.42		
Cost Plus Time Totals			\$7,395,958.93		\$8,390,355.42		

() indicates item is bid as Lump Sum



Vendor Ranking Page: 1

Call Order: 454 Contract ID: 21454 Counties: HUNTERDON,

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: December 14, 2021 10:00 AM District(s): C4

Contract Time: 12/31/22 COMPLETION DATE

Contract Description: Long-Life Pavement Markings Contract, Central - 2020 Project(s): STBGP-FLEX-

D00S(502)

Rank	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	TRAFFIC LINES, INC.	\$7,395,958.93	100.00%
2	DENVILLE LINE PAINTING, INC.	\$8,390,355.42	113.45%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.